} Introduction Data Analysis: Making Sense of Data 7

I s P Ei A class survey Here is a small part of the data set that
M overnioeg o
i [N 29, escribes the students in an AP Statistics class. The

EENVSY \L/J LS AN wues =t
pa3 data come from anonymous responses to a question-
naire filled out on the first day of class.
Protecting wood How can we help wood surfaces - ) 2 Pocket
resist weathering, especially when restoring historic Helght Homework  Favorite  change
wooden buildings? In a study of this question, Gender Hand (in)  time(min) music  (cents)
researchers prepared wooden panels and then F L 65 200 Hip-hap 50
exposed them to the weather. Here are some of the M L 72 30 Country 35
— variables recordedrtype of wood (yellow poplar, ] M R 5 .
pine, cedar); type of water repellent (solvent-based, = o 3
water-based); paint thickne kness (millimeters); paint L 64 120 Alternative 0
color (white, gray,light blue); weathering time M R 83 220 Hip-hop 0
(mont_hs): Identify each variable as categorical or F 3] 58 60 Alternative 76
quantitative. F R 67 150 Rock 215
(’a_\_ e,a St CL 4 g Pu o8 Lk.)b\,d « (a) What individuals does this data set describe?
+\iP e W ode- vep eMend (b) Clearly identify each of the variables. Which are

P Xz C \ B quantitative? In what units are they measured?
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multible choice:lSelect the best answer.
Exercises 7 and 8 refer to the following setting. At the
Census Bureau Web site, you can view detailed data col-

lected by the Americar&ammyn}ily Survey. The table. 3) Favor e music
below includes data fo€]0 peopleXhosen at randope ~ ~— . U7

from the more than one million people in households
contacted by the survey. “School” gives the highest level

chiediication ccmpiete§ ’ Qﬂ - '1,]3-THEiﬁdivialﬁls"iﬁ'th"ls"_c]éta'set are
Income

3
W%iqghl ﬂ% tor:‘;rk @ @ last a) households. (d) 120 variables.
d people.' (e) colurmnns.

(Ib) (yr)  (min)  Scitool nder year (3)

187 66 0  Ninthgrade 1 24,000 (c) adults.
158 66 n/a High school grad 2 0

176 54 10 Assoc. degree 2 11,900

339 7 10 Assoc. degree 1 6,000 - f&] This data set:contains

91 27 10 Some college 2 30,000 (a) 7 variables, 2 of which are categorical.
155 18 va  Highschoolgrad 2 0 (b) 7 variables, 1 of which is categorical.
213 38 15 Master's degree 2 125,000 @6 variables, 2 of which are categorical.
194 40 0 High school grad 1 800 (d) 6 variables, 1 of which is categorical.
221 18 20 Highschoolgrad 1 2,500 (e) None of these.
193 11 n/a Fifth grade 1 0

L8 L x
No’c‘\“— CaXeaonch m oy \De_ \c.\-»c\cé as numbers

Gendeced \cheled (M) and o (F) Oooié be (entbetive
+o GET Siehsbl 9y Male.



|Pe 22]

Would it also be correct to make a pie chart?
ES, PECALSE AL DAYS oF
Weew e INCiod €D, idasid
NEed To caLcoaTE Dp's
P Buying music online Young people are more likely
o=+ than older folk to buy music online. Here are the

percents of people in several age groups who bought

pg10 . . .
music online in 2006:14

Age group Bought music online

1210 17 years 24%(“=~:. _-

1810 24 years 21%

2510 34 years 20% s
3510 44 years 16%
45 to 54 years 10%
55 to 64 years 3%
65 years and over 1%

(a) Explain why it is not correct to use a pie chart to
display these data. )

7l Going to school Students in a high school stansac,

- class were given data about the primary method of

transportation to school for a group of 30 students.
They produced the pictograph shown.
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Bizras BY DAY OF weEK
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' T? Birth days Births are not evenly distributed across -~ ol
},/‘* the days of the week. Here are the average numbe.rsd W R B
of babies born on each day of the week in the Unite g - 1
States in a recent year:'? \;) g-- .
x E
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‘,m Attitudes toward recycled products Recycling is

1%

f;:) -~ + supposed to save resources. Some people think

' recycled products are lower in quality than other
products, a fact that makes recycling less practical.
People who actually use a recycled product may
have different opinions from those who don’t use it.
Here are data on attitudes toward coffee filters made
of recycled paper among people who do and don’t
buy these filters:!6
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- Think the quality of the recycled product is:

(a) How many people does thistable describer Hew
many of these were buyers of coffee filters made of
recycled paper? | 33 pecele ) Db boug bt
(b) Give the marginal distribution of opinion about .

the quality of recycled filters. What percent think the "/,
quality of the recycled product is the same or higher 3
than the qualily of other flters? A

e v

(0909 Cespinded o

A1 . ¢
Higher  The same Lower Ternt T Hy e Fhe @0 Ry
Buyers 20 7 9 (é"{ L: / ot recycled aodex
Nonbuyers 23 25 43 rﬁ{-?_—f_‘ /r_.e -‘—\ Vs Loes hhe Same &
; PN {12 /
© Teran W o3& 52 W g 2 igher
S araind Golooton  dafisy 32)53 saki3a / G gher
LATST SR\ S '
= PR T TCRD ' . . _ ) .
of RIaULTY of F‘L\_ .} 3 ;%“VL 24, é(,‘?a 39. '0‘2‘;. . \UG‘OQ,

21} Attitudes toward recycled products Exercise 19 gives
{%- .- data on the opinions of people who have and have
not bought coffee filters made from recycled paper.
To see the relationship between opinion and experi-
ence with the product, find the conditional distribu-
tions of opinion (the response variable) for buyers
~  and nonbuyers* What do you conclude?
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| Multiple choiceySelect the best answer. i

Exercises 27 to 32 refer to the following setting. The
National Survey of Adolescent Health interviewed several
thousand teens (grades 7 to 12). One question asked was
“What do you think are the chances you will be married

(d) the conditional distribution of gender among

adolescents with a given opinion.

(e) the conditional distribution of opinion among
adolescents of agivengender.

¥

Aenomiack

in the next ten years?” Here is a two-way table of the e 1S -Feme ey
responses by gender:!8 29. What percent of females thought that they were '/, ye 5
\ almost certain to be married in the next ten years? Yemele
Female Male Aok (a) About 16% (c) About40% (e) About61%
o 3 [ 14
Almost no chance 119 103 L‘L‘L (b) About 24% ;_’"((I):)‘\honlt 459, 317(,(/ J‘, 2s= 44,72 70
Some ch : 1\ =1 o B
A(;rgzg 5;“09- but probably.nol 150 7 3 l’q 30. Your percent from the previous exercise is part of
A -d (;] aiic e Si2| "9y ?\5 (a) the marginal distribution of gender.
good ¢ AN 785 710 1™ (b) the marginal distribution of opinion about marriage.
Almost certain 1124, 756 Q%2 . o '
TL - = - 5 - ', 17 (c) the conditional distribution of gender among
ciAl= 3edd. 2153 KW adolescents with a given opinion.

27. The percent of fernales among the respondents was

(a) 2625. /({: about46%.  (e) None of these.
(b) 4877. ((d) about54%. 7
—

28. Your percent from the previous exercise is part of
(a) the marginal distribution of females.
(__(_‘b}’_,’thc: marginal dislribution of gender.
(c) the marginal distribution of ¢
marriage,

625/ 4577= 53.59%

(’(Eﬁ\ the conditional distribistion f opinion amofig
adolescents of a given gender.

{e} the conditional distribution of “Almost certain”
among females.
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ﬁ/ Giden CPvAg~
’\'{f\ What percent of those who thought they were almost

/" certain to be married were female?

(a) About16% (c) About40% ({e)) About 61%
(b) About 24% (d) About45%

W74/1930 = (0.53%

.32, Your percent from the previous exercise is part of

(a) the marginal distribution of gender.
(b) the marginal distribution of opinion about marriage.
@the conditional distribution of gender among
adolescents with a given opinion.

(d) the conditional distribution of opinion among
adolescents of a given gender.

(e) the conditional distribution of females among
those who said “Almost certain.”

@\, Snowmobiles in the park Yellowstone National

@,\/ Park surveyed a random sample of 1526 winter

pg1g  Visitors to the park. They asked each person whether

they owned, rented, or had never used a snowmobile.

8.7/L  Respondents were also asked whether they belonged

;;g-; to an environmental organization (like the Sierra

o Club). The two-way table summarizes the survey

responses.

oo

* Environmental Clubs
No .Yes Total
445 32212 709, 657
497 1'% 77 257 5
279 23% 16 57 a9
e
1221 | 5, 305 /m£ 1526

Neirer used
Snowmobile renter ‘
Snowmobile owner
Total

Do these data provide convincing evidence of an
association between environmental club membersh ip

and snowmobile use for the population of visitors
to Yellowstone National Park? Follow the four-step

process.
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@ Feeling sleepy? Students in a college statistics class
responded to a survey designed by their teacher. One
of the survey questions was “How much sleep did you
- getlast night?” Here are the data (in hours):

79 4 3 4
8§ 45 9 7 7

M INTMOM — 3
(a) Make a dotplot to display the data. Mo mymn =

(b) Describe the overall pattern of the distribution
and any deviations from that pattern.

Remem ber Shage, Cen’rer' Spre.e.-l
Out+liersy
Notice e \ma\ ‘.tg]—\‘}ﬁd
hedqyng udrds . becavse
S-\-aﬁ'g-h (g Gre NQT an

9 6

8 6 8 8 6 65 6
5 6 11 6(3)6 6 10 7

in context-

execy Sciencl.

@ Where do the young live? Below is a stemplot of the
percent of residents aged 25 to 34 in each of the 50 states.
As in the stemplot for older residents (page 35), the stems
are whole percents, and the leaves are tenths of a
percent. This time, each stem has been split in two,
with values having leaves 0 through 4 placed on one
stem, and values ending in 5 through 9 placed on

another stem.
STEM LEAF '

11 | 44
111 | 66778
(12 | 0134
{12 666778888
{13 | 0000001111444
§13 7788999 i
14 | 0044 Key: 121 means that
?1 4 567 12.1% of that state’s
ij‘l‘l 5111 residents are aged 25 to 34.
5
S0 KEY nia = 14%

((3) Why did we split stems? o B
(b) - Utah has the highest percent of residents égéd 25
to 34. What is that percent? Why do you think Utah
has an unusually high percent of residents in this age
‘oup?

distribution, ignoring Utah.
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@ Do women study more than men? We asked the

students in a large first-year college class how many

minutes they studied on a typical weeknight. Here are
the responses of random samples of 30 women and 30
men from the class:

b J 2 :
B MW omen MTEX Men n=20
180 120 160 (360) 240 90 120 30 90 200

120 180 120 240 170 80 45 30 120 75

150 120 180 180 150 150 120 60 240@
000 150 180 150 180 240 . 60 120 60 30

8
*
120 (60, 120 180 180 30 230 120 95 150

00 240 180 (1151 120 0) 200 120 120 180
mn - o Mex— 3 M X ~-8300

(a) Examine the data. Why are you not surprised that
most responses are multiples of 10 minutes? Are there
any responses you consider suspicious?
. (b) Make a back-to-back stemplot to compare the
two samples. Does it appear that women study more
than men (or at Jeast claim that they do)? Justify your
i mang les S (1‘1 n

answer. i 4.__.,”‘,_ - S “‘-:is__” \,_\i
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Multiple choice} Select the best answer for Exercises 69

to /4.

69. Here are the amounts of money (cents) in coins
carried by 10 students in a statistics class: 50, 35, 0,
97,76,0,0, 87, 23, 65. To make a stemplot of these

data, you would use stems Do N OT
(@)0.1.2,3,4567.89 (.,
) 0.2,3,5,6,7,8,9. CATECoRiEs

(C) Or 37 5’ 67 7' “
(d) 00, 10, 20, 30, 40, 50, 60, 70, 80, 90.

(e) None of these.

70: One-of the following 12 scores was omitted from the
stemplot below:

. .
84 76 92 92 88 96 68 80(92 183 76 96

The missing number is
o\
(a) 76. (b) 88. (c) 90. f\(d) 92. (e) 96.

71. You look at real estate ads for houses in Naples,
Florida. There are many houses ranging from
$200,000 to $500,000 in price. The few houses on
the water, however, have prices up to $15 million.
The distribution of house prices will be

(a) skewed to the left.
(b) roughly symmetric.
((;)\ skewed to the right.
(d) unimodal.

(e) too high

|
.
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Exercises 72 to 74 refer to the following setting. The
histogram below shows the distribution of the percents of
women aged 15 and over who have never married in each
of the 50 states and the District of Columbia. ¢ '

rl.f"\_ w
14 4 \MZ'WC?SN h T e
(o TR
12 e- on
§ A";' O_(E-
. 210 o>
8 8 \0
E ]
Z 4-
27

"’lzs 36 40 44 48 52
Percent of women over
1% ‘¢ age 15 who never married

&
72. The leftmost bar in the histogram covers percents
of never-married women tanging from about
(a) 20% to 24%. (d) 0% to 5%.
() 20% to 22%. (e) None of these.
() 0% to 20%.

73. The center of this distribution is in the interval
ﬁ:_)\ZZ% to 24%. (d) 28% to 30%.
((6))24% to 26%. (e) 36% to 38%.

(c) 26% to 28%.

74. In about what percent of states have at least 30% of
women aged 15 and over never married?

() 4% (b) 7% (c) 10% @214%\- () 32%

The his ’H&:cm V>
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U Quiz grades Refer to Exercise 79.

7 i ! i i ki
@ QU}Z grades Joey's first 14 quiz grades in a marking 3 " (a) Find the median by hand. Show your work.
’ -»» period were _ MmN pg53  Interpret your result in context.
pg 51 8 84 91 75 78 &0 @ " (b) Suppose Joey has an unexcused absence for the .
e 606890008} ' 15th quiz, and he receives a score of zero. Recalculate
FTAXR e the mean and the median. What property of measures
Calculate the mean. Show your work. Interpret your of center does this illustrate?
result in context. @Ensv Way 70 70 m_t.‘) AN
M@a(\ ;f)‘(: X1 _ !‘_::_I_]:gs , (s Tv Do 1 Quice STEmM
" LeaF GRnPH
T e “ o\
The mean oF Togy's First 11 Guiz's 2| Yau§ T
IS ¥S2,. iNCoATEXT + IF Je€Y HAd ¥ |0Xe T Y956
StoR e THE SAmE AMurm Béa OF POINTS q !&?/3 a 65
-~ s 1 - e : t\ : . ’ ~ - P
OFTHE 15T |4 Quizes, THew HE The medcan s 823 The
Woued HAVE Scoatn AN §3 2 ON Means helf Hhe Scores
Z/" CH OU Z /—7728 Mecn /S W{C l) IL/} (1)13\ are loe lON gg (Lhd
Pom‘r The “Fein share ',' he [ ave above ¥s
fh‘} Quiz grades Refer to Exercise 79 ' '
@ " (a) Find and interpret the interquartile range (IQR). @ J]5Th C‘V""Z = 0‘90
pg 57,58 (b) Determine whether there are any outliers. Show
MIN-TTF Y your work. }75‘: I\Qlj_7? 339
A¥I¥  Jogs

@) TTsa- ENTEA DAra v LA

GIr-fg{ Ol A v A — CJi ©

. L L Y BoA PleT. 1.5 Median = §4 2

Q3- _

Mmax- 9% You R Haxp PLET DIFFERST Uohce oHe mecn Went ‘Fﬂsm

L R
FRen vve CALC © EXPLAS

859 +o 7900/

O ’L’Q& QB(C‘> Q( \ (?% eth < ﬂ‘ecj,\cnv (Went "'Pf‘ln"l
Them;ddle 507 o+ the Co‘\'a l«co @ lS,Do.n‘Sp/wJ ¥S9, o 3%,

RES'STEM(E P's demonsrlmfké:

e NO
® Qi-isTea= 75 -1s(3)= 5%, §:| "E‘ﬁ“i\lék
Q3+I>IQ({* q\—f!\b(lj)- 10,5 4k /4/\/ OuTue,Q Has A LAe(¢E

ImpPhcT ON THE MEAN

a2 o
' u SEARET
e 4 y ?7' = 9
(D . 4 ‘. .tf"/*/ WHILé THE MED,An 15

\..CSJ

50 Y
@Incomes of college grads Accordmg to the Census / L85 1IN FPLvenCep Y nA
Bureau, the mean and median 2008 income of Oc! TLiER (..,. he medlan
people at least 25 years old who had a bachelor's e g - 4 L0,95Y ’ 5 o fenisien: e
degree but no higher degree were $48,097 and EOVAN- -}‘H& 04

$60,954. Which of these numbers is the mean ancL___

THE b\s-a.\(’\ma JAS g
which is the median? Explain your reasoning. ‘ NS LvkELY skéwed

Te me RV eUT BE 2ausiz A Few PesfLe
WHE ttag e VERY Lece INiemes ALt

PUL-IAIG THE Meanl Towards THe " .
HlsHFn fN((OMESe Frov Pl B 1¥G i




Don’t call me In a September 28, 2008, article tiled /7 o ™ LA
28 ’ ’ = NTE DA IN U
{7 -+ “Letting Our Fingers Do the Talking,” the New York C‘ E i_u_ R

" Times reported that Americans now send more text @ GT"" ;\ A -Vne STATS
messages than they make phone calls. According S~

to a study by Nielsen Mobile, “Teenagers ages 13 “i = 274K min = 0O

to 17 are by far the most prolific texters, sending or S Q)= 3

receiving 1,742 messages a month.” Mr. Williams, a nN=as - 9
MEO=

high school statistics teacher, was skeptical about the
claims in the article. So he collected data from his Qn=43
ﬁfﬂ—péﬁbd‘ﬁfﬁﬁgfi"C? class 6nthe number of text B I B

messages and calls they had sent or received in the Max = WE

past 24 hours. Here are the texting data: @ T é'_dr check wjC AL
0 7 129 25 8 5 1 25089 026 ol e -

o - . \ - - - )
SAIHED 0(92) 52 14 3 3 #4 5 42 Gaa> @Mt rwer ) PoTi>oN
' . F .'_1()::\ ) =L l

(a) Make a boxplot of these data by hand. Be sure to \_L_ixj_’; G: SMY el

check for outliers. o 2 Fesq 4

(b) Do these data support the claim in the article T o

about the number of texts sent by teens? Justify your Q QU7 =& N

answer with appropriate evidence. TQR= H3-WVE #3-3 =40

TEaz 43 1.5 /Ho)

(") - Gr+ 1S ~
s ! ' : | P SR SR S X, , T3
&< 43 . (e ksINcE Wy 1S GreATER
007y, THAN 103, TT 1S AN
=T povLiee, NOTED N BoX

@ Tre achele clams 1742 mon%la m&abc&eb
Which warls odt e be chedt S8 msq /day .,
That seem S Uea Mal smee held $his clas sest
: S S Ud < > e

feror Yaen  JOSmMsYs pun ONLY Y oor of Tie A5 stoderts Sert moce Fhen
= 3 N¥ messc :rx,\

Prot ta i mh AN X

E}j Texts or calls? Refer to Exercise 91. A boxplot of the
difference (texts ~ calls) in the number of texts and

calls for each student is shown below.
\\ ¥4 )

S ~ Cells end Jeyde were made

AL i : N
™ THnombe " _ More. +ex¥ys sent +han cells

F i T T T T T T~ L
20 0 20 40 60 80 100 120 e ﬂdm\oar " ma/‘c c,:“; "H'\w‘ 460(,*5 56/)+

Difference (texts - calls)

(a) Do these data support the claim in the article @ This bex P \ot d,(.i es  Sypport

about texting versus éa]]ing? Justify your answer with ; . . Nar : 1
appropriate evidence. ‘ I EIDNE e < o - %&t
(b) Can we draw any conclusion about the prefer: . 4—&@1\ nqers pre }f," “I'{X‘-h%i oder
ences of all students in the school based.on the » P . " J
da}l]ta from Mr. Williams’s statistics class? Why or ?hom& C s R T his is bq5<3 A CGh
wiy not? i g :
75—70 O* \“\( 5‘\1_)&( ‘)'\‘3 5‘\0UO n n \']4\12_

\ot matlﬁ Mure ‘LL’X:B “‘l”\cﬁ CZO“’&

\) YD
v

® \A)Q Can naod ércu Ccv\c\o%v\\UV\B
' Since IRis Wes Noty oo Nen ds m SQmP\Q_

ond Nere mey be S?M(.\LPH{@)“ M “I'MS 'erddf) Hhet cov neT,
be genenclized 4o ol teenagess (ie AP shdedls are highe edvcated)
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5§71 Domain names When it comes to Internet domain

[

names, is shorter better? According to one ranking ot
of Web sites in 2008, the top 8 sites (by number of \ o ‘ 1%,.,"{5 \ Comolebue
“hits”) were vahoo.com, google.comn, youtube.com, 'L(mrfh sces | L” - B’ SiTES
Tive.com, msn.cont, Myspace.com, \x'ikip?dia.org, and 24 o 70 70
facehook.com. These familiar sites certainly have 2 4o .G T
short domain names. The histogram below shows the 4 47 Toy é—z
domain name lengths (in number of letters in the G % 240 /60
name, not including the extensions .com and .org) for L (e85 (.30 265 F— ]
the 500 most popular Web sites. " 3 L 320 MQ-‘\’—‘-"ﬁf—
¢ ¥ SH HiY Ve +he
q . 3% 343 ay 6/‘«32
1 —~ Q9 5 0 i
20 105 f{ f '7; O;Z‘Zg o Fthe,
1001 . 12 2% 240 ZS_OT}'_"X-
ol _U; Lo (3O zs) ¥
e 7o ALVES
: . gq |25 A5 S 73 - 5.
g ' le } I edian
) 2 . S (fed=r)
wa 7;..,,| 550 5,1_011 \':\___b_f,__./
e e T3
i B Nl 1 i rhe s N 5 LJ—1 A : i .y
T A A8 6T 8T 0l pidmds ) 15),9- bl i“—'?\_T L% mMeAN
Donain name length ) 5 e \’ G’ .
Vse >t ooe 5 X = 350t
cele 7 1 ~vAR ___ Soc
(a) Estimate the mean and median of the distribu- La 2 = 7.00%
tion. Explain your method clearly. 7 x=800 )

? 97.' Phosphate Tevels The level of various substances in

(b) If you wanted to argue that shorter domain names
were more popular, which measure of center would

you choose—the mean or the median? Justify your
answer. Since “Hthe median (&) s

Dse Hhe medicn T ar
Popoten. The meen I <

less than the mean (7}, we woy Id
Ve ""‘\"“" Sl’\urk/‘ Nnames acre Moure
a&eu.ieé 4o “the PI%M with e Fend

@j X “—W‘Ae nemn €5

the blood influences our health. Here are measure- Dev: elin
ments of: the llé]:vel of phosphate in the blood of a Phespicte SVt -Z
patient, in milligrams of phosphate per deciliter of ‘weld v - T
blood, made on 6 consecutive visits to a clinic: 5.6, pa Cnif’d,) s * (X b ‘XB = =\
5_.2, 46 49 5.7, 6.4. A graph of only 6 observations 5.6 * R - 04 - z ()(,3 _X‘\
gives little information, so we proceed to compute 5.2 -.2 , o [%= TT
the mean and standard deviation. e b4
(a) Find the standard deviation from its definition. il | 8‘ bl IR 412
That is, find the deviations of each observation from 4 9 g - S
fhg_mﬂ:ln' square the n'avhﬁnm_ fhf'n_ab_tain_thc__ 5 7 ) S F a‘i e
variance and the standard deviation. o "f / S=E. 64 qﬁ‘ﬂ ‘\\
(b) Interpret the value of s, you obtained in (a). L 7 _l < d“L

L cphet leuel v g Z=2.00 =

@—rht "'\’710\0‘-\ ’PhD:’Fhr e ° T XGT—T‘\
419 mg a1 & erent v o
" SE UL Dt M T

an ({\JQP‘L‘-E'L )
Lrom “the menn 'e\’el o+54 Mé)c“ .

i)

SD contest Thisis a standard deviation contest. You
must choose four numbers from the whole numbers 0
to 10, with repeats allowed.

(a) Choose four numbers that have the smallest pos-
sible standard deviation.

(b) Choose four numbers that have the largest pos-
sible standard deviation.

(c) Is more than one choice possible in either (a) or

(b)? Explain.

@ 4 seme number ( LYY \3 \
(8) 0,0, 10,19 (3ot \owest end 208 \ncwjk)

@ For (&) dny aroup o+t Same H
hombers resalfs jn Sx =0
F©p® We Went Y lacgest A_c\ﬁ,-‘\-rq,\

{O |6§,T’“’- Meéanrn =5 30 W\ ACU?;‘,‘\"}O/I)
P o )d be (8)7.
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—~ 105.- SSHA scores™Here-are the scores on the Survey of ~' "~ — ) -
‘(;:i@ -»+ Study Habits and Attitudes (SSHA) for 18 first-year TTHAT Wemgnd & ?’:“ t/?—i ?TLTO\(‘N’ 1SS
WBITS AND ATITUAES
o N ERN

college women:
P €6 5 WomenN

B4 154 109 137 115 152 140 154 178 101 LEazmiNG TH
103 126 126 137 165 165 129 200 148 e o
PLan Cpeate PAralLEL Ao X PLOTS

and for 20 first-year college men: .
d : Foa. mMen AND HJomeN
108 140 114 91 _180~ 115 126 )
92 169 146 109 132 75 88 Ny ENTEZ -DAT - LV T omen
Y RN M M LT AT 7 AT SN SR . L2 = men

_UJ BNELCAL SIM MAQYE ?‘3

Jamable N R Sy, Mid. QL MED Qb MAx

men? (Note that high scores indicate good study hab- | ) ) lol 12¢, 1385 IsY 206
its and attitudes toward leamning.) Follow the four-step \;]noéﬂj':] a:é ‘L;\\ 32;: 70 9% 4SS 143 1%

proces\s. ,M"*‘; ;):: B R U s o o
v i !
‘901:- ‘ O Pox PLOTS MusT Ose the seme SCCIE&

B GanfPm mosr show Sceles end be lebele

oTE > Bex PLOTS Do
N T 2 o soLat S AV,

ﬁﬁ_ﬁ—ﬁ bJorY)E;J ' see ho'k:%nm
lvlo 50 2\ mEA) . | - Dj '*
-tﬁ I _

Z_\ = ; |

lo N = { ‘
== 7 T ' ; ,
@ ‘ - .

Do these data support the belief that women have
better study habits and attitudes toward learning than

B ==

K
.".g.- b 18] lio (5 1) 1 6O 150 oo
SSHA Scores
["-‘-'*IL‘\-‘-'Scbn Lip>e
AL RO

hide = L4 wose ~— Kamen ; y .
wchée : L eppears Thed 1) When Comparin R Grovps

(va)
A . : |
' [5B 200

men

o0

55 HA SCeLE

A

i ; “Shan MEN,
L cve Nighe~ S5 HA Storen A 5 e
!I“"’ﬁ : ] ~§-(_ . Cendgus e e e ber “Q_' oS cn A 25 v
—Th e {?]g J I..{l A ”,) ’\“’_ A(,»', +h v L(._. gl ; " * ; ) ) .k[\ A
= d ﬁ 18 Qe Iﬂ” J"lf:/ /ULL. \J]"I (819 '(._!. d A bC Cen i sprec
Men (1355 vs Wts), The women & ;J - ' i
a ' 1'1 f-'-_ fl:. ':18 ~\ S‘U-’f?ﬂ](-"_! €5 woﬂlf’"_ htufs ‘.:')1\('.(1('_ cngd Unysac l u'cl\)CS (1"‘ 5
Al < LI Rl S il ok “Hhere 13 €5 ' b oo N A 4 Jeast
# A Jt«-d C‘e‘-’“'l“m S : o < s . - 7~ Co mpcre at )
c',i{ *?’ﬂ‘_){_ 53 ‘-‘5}!;1](1r_‘j{o(¢>e Bo-Hh Meénas Wdmen S L\\l‘it’ —’["‘ wCy C .”Q Sie CusS.
U e o \-\1 N LoreS appear Yo be symmeimc W i _ L i N ——
‘Mumg—gfe choice:lSEC(ect the best answer for Exercises 107 M€n's { tor€d Mose Dfrecd 00T,
to 110.
,107 If a distribution is skewed to the right with no outliers, 103 W-hwh ijth? fowllowin_g_is l<_3_ast affected if an extreme
(a) mean < median. 4) Ynean > median. high outlier is added to yourdamr -
(b) mean = median. e can’t tell without ((a) Median (d) Range
(c) mean = median. examining the data. (b) Mean (e) Maximum
Tio: The: mean qe% P.u,l\eé +o Hea () Standard deviation
; : oot \:ng Sl { 110.5 What are all the values that a standard deviation s,
[ 108& You have data on the weights in grams of 5 baby ; can possibly take?
ight is 31.8 and the stand 7 )
PY&.’OY.‘& T};ehmean' V:]il%};t7l53;l"l§haencorreecst i?litirfor '@‘)’!Sx 20 (d) ~l<s <1
deviation of the weights 1s 2.57. (b) >0 (e) Any number
(c) 0<s <1

the standard deviation are

ano units—it’s just a number.

(b)) grams. /=3|.8
grams squared. X L}
(d) pythons. Gz 2,551:}
(e)

e) pythons squared.



